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6. gl = e ¥

6. What is the radius of the earth ?

(W) 8371 fwt. 4l 5871 it
(2) 9371 ., (2) 9371 km

(3) 2371 fEt (3) 2371 km

(4) 6371 fF (4) 6371 km

(5) W T 39 = (5) Not Attempted

er of
7o T AR SR for v A e # 7. A surrottsided i 8 Iay

o ) (1) Environment

(2) agHEsA (2) Atmosphere

(3) ey (3) Climate
(4) SN (4) Ozone
(5) WA T TE (5) Not Attempted

8. U YRA F YUH TER-RS & ®9 F friy st \

fopan 2

(1) TER IeaYYE gt
¥ I SR

(3) AT A TE®

@) . geEeTER
(5) SR &l 31 9 |

9. ‘fafewr R =1 sfoerd’ WE‘F@WW%?

(1) =RA e
@ TIE aReEe |
3) THE FA it
@) = faa ' =
(5) I T S AR | 10. ‘Mission Indfadh‘ 5
2014 is: :
10. 992014 ¥ YRY gU ‘ SARH g5e F1 A © ¢ (1) To cover
o) T e % T I ST TR STl foaurtt:;lin?,{ not
ZTepTeh0] Ted e T a6l HEAfCrd HEA | (2) To provide af
(2)  TrOr SEE ) TR qe e T healthcare to th
ot YeH HE | (3) To provide edu 1
(3)  difea a=di i ey ga™ FE children.
(e T provisie info

(@) foridi 1 fafa= worR 1 sraeadharsi i gfd
& ST, TG qe HETd ge L |
x.(l IR e <1 e | .
WA E; < 1 % et 2l SPACE FOR ROUGH WORK
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16.

4.

18.

19.

VNATH/E1

016, the Govern

‘mission called

92016 § TG WHER Y A fove | 16
sewage disposal

ey fopan ® foraas sria sfea
P aifed war frger
(1) 3sH
¥2) W= Y9Rd
(3) T=ifg T
(4) SSEen

i ; ses beri-beri

w1 % R 90— S E R
(¢ TeafmIBI
(20 feafm=c
(3) feerfm=D
(4) foefmaA
(5) S TR <A =R |

(a) foga 9=
B) ‘a9 feafa § fa=

() faegdwed
(D) =l

qer fawea ﬁﬁ'a 3 :
(1) (A)-(D, (B)-(0),
(V4 (A)-(1V), (B)-(L
3)  (A)-1V), (B)
@) (A)-), (B)-0D, (C) -(I11),
(5) SWAE =7ed |

me
(D)-(IV)

uﬁﬁ@mﬁamqﬁmmaﬁm% a’tmﬂa
ﬁaaﬁaﬁngﬁmﬁmﬁmm% ST TE | 1
Sffaa =2 7€ T | gz FEm FEAME
) =Eratad ‘ i
(2) FEEA

(3) AT

(4) I

(5) <7 A1 oA AT |
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25. U oS WA T Y T denier 7 g was | 28. Aboyismnmatadmaageafa}@mr* hor

®1 T iR wfafa fepat the plane mirror. What wﬁ}l the d

(1) 25 i DR between the mirror and the im ?

2) 50 Ve (1) 25cm - 1 b
EN. (2) 50cm

e - e (8) 7S5cm

(4) 100 HHR (4) 100 cm
(5) S el <1 = ed | (5) Not Attempte

26. frefofed § 9 -9 oy wefmam T8 82 | 26, Which of the

(1) woEd habitat ? 4
(2) aiaA . (1) Desetiy
@ e @) ReifiCes
@ T )

(4)
15

(5) ST TR < =R |

27  whE § SO0 F e 2g R
Ty &1 SAEYIhdl el el & | ;
(1) =
¢ Hae
(@)  aTSidsH
(4) fafem
(5)

(1)
(2)

(4)
b (5)
'VNATH/E1
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38. TR T Fifewa e
foran S R I
ST 2
W Ko,
(2) KLEI
(8) KGEF
(4) KLEF

(S) Wqﬁ%ﬂaﬁm

COVE §

34. ARQ, RFVFTH WY, A0, ® 3 frg

YR Tafed § 2

(1) ==/ HJH @ Q
L) [

(3) T WE/wEA

4 W

(5) ST TR oA = |

3| dEns ¥ g HaeE & 9 W s

el = ST F W U e I

£
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GET IT ON
Google Play

If in a cert
FRYHW’ the

(1) KLGH
(2)
(3)
@
(5)

If ‘Q’is
‘Q’ rela
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37.

38.

39.

T ST H TN R T Hf

37.
11,12, 16,85,41, .3

1 o(:}' xR

(2) 69

W c

(4) 65 3

(5) SR TRl S =R | QL

U W= A, B, C, D @ E IW &1 31 ¥e 550 v

o § w2 &, S o 9 e wma gy | 38
‘C, B'HE AIAA’, FAE M| A’ sl o
EIER R RIS ESke R R T )

W), Gy

W B eplE S

3 A i
. AR @DAEC
(5) S| TR < 9med |

T A IH W & 95wk wel ¥ 9% e
feen & 135° 2 w1 ¥, <9 9 <fiomed feon
90° T S ¥ 1 379 3UH e frw fam 6 7

(1) TXK £

\(}/ I-ufS=g

Y
(3) wf¥=m L
(4) TR 2
(5) W M EEA|

o ym fehefieiier =71 Haiy o 4 2, et wahm e
fFed Hafug 22

39.

40.
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Find the next term of the series :

]]’]2,]6,25,4], ?

(1) 66
2) 69
B
(4) 65

(5) Not Attempted

Five children A, B, C, D and E are standing i,
a row, facing North but not necessarily in th,
same order. ‘C’is to the right of ‘E”and to th.
left of ‘A’. ‘A’ and ‘D’ have one child betwee,
them. Who is in the middle of the row ?

W e
(2) B
B A
(&) e
(5)  Not Attempted

A man is facing North direction. He turns
135° in anticlock-wise direction, and then 90°

in the clock-wise direction. Which direction
is he facing now ?

(1) " North

(2) North-West

(B) West

(4)  North-East

(5) Not Attempted

Kilometer is related to Distance in the same
way as Newton is related to :

(1) Density

Force
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41. T SeF &t fien 8 1° its
3TH] F= . A than 1
RIS i SRR 5 FLH i 40" 41, The radius of & cylMAEEIS S A
F TH T 5w 702 T & ; . e radius d surface€ ar f
THH T ) 1 792 &1 Hdfex ¥, & height. If the curve@ S Hine yolume 9
(¥ Hfex §) 3y cylinder is 792 cm?,
5244 cylinder (in cm3) i8 :
(2) 5544 (1) 5244
(3) 5306 (2) 5544
#5712 (3) 5306
5) ST =& 1 9=y 4) 5712

(5) Not Attempted

2. 9t g5 5
45 —[28 - {37 — (15— x| =58 &, T x T WA

§: | a2. 1145— (28— (37— (15~ )= ooAtEe e
(1) TS of xis: ik
W 19 (W =19 w |
(3) 29 | @) 19 qfr 22 EE A
(4  -29 @)oo | e

(5) S TRl < Ted | 4 -29

(5) Not Attempted

43. TSR THI H A, B ¥ 20% $9 H1& Fal g1 A< A
ol =1d 1 71, 93 H QWA Hhal e, AB I HE | 43. A does 20% less work than B in t
=1 fmaa gz § qu F 9@ ? time. If A can complete a piece o

V{ 7Y% hours, then B can do it in :
) Lamy &C....‘_am&i.'.’tq'q:i S 3 Jood
1 5% h
(2) :2: | 6 h;i:.)rs' S’\ § 5;;
urs. 2 6
(3) 3)

(4) Shours

rumn e et

(5) Not Attempted

A and B started a business by
% 22,500 and ¥ 35,000 respectively.
total profit of ¥ 27,600, B’s share is :

(1) ¥ 14,400 '*%
2) 16,800 }
(3) ¥19,200 i
(4) ¥10,800

' Not Attempted
GH WORK
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foretm ® safas | 45.  The cost of type - [ rice is Z 15 Per kg ang
45. UHN - | & WEA H A T 15 ufg € \ tv::e - II rice is ¥ 20 per kg. If rice of bot}
TR - 1] #WWW?QOWW%I afg 1ivpes are mixed in the ratio 2 - 3 then th,
T R % w1 B 2 ;3 fyermn mn A, @ fagor cost price per kg of the mixed variety of Fice
&1 ufa fareim gea § |
(1) 219
(1) 219
(2) T18.50 () 1850
3) 21950 3) %19.50
W zis 4) 218
(5) I TE T e (5)  Not Attempte
P g 2.5
46. 9ic ’1+£=]+i%,?hxmmmi hio | il
iy " 8
144 12
o s s
[ 18 AR L
3) 17 (S il
[ 1 ()
(5) W < =Ry | (5) Not Attempted
47. TF 7% 550 tﬁ?{‘qﬁiﬁ 1 mﬁﬁqm%ﬁ'ﬂﬁ? 4'7.:" A truck covers a distance of 5
k 2 : : 1 minute whereas a bus covers a
U 99 33 fh A, ﬁaﬁ 45 e 3 79 Akl 33 kms in 45 minutes. The ratio
=1 T 1 99 9 1 g 3T of the truck to the speed of the by
1) 4:3 ) VIR |
2. 3:5 & 375
3) 5:3 Bliat 5k 3
4) 3:z4 (e 3¢ 4
(5) W& T =R (5)  Not Attempted
48. T &I F1 HCF 28 % 2 3T LCM 336 &1 | 48. The HCEF of two numbers is 28 and their [,
. A s . A is 336. If one number is 112, then the ot
e afe T Hem 112 % 1 gH e g M
W 64 (1) 64
(2) 84 2) 84
) 92 (3) 92
L (4) 34
(5) 3 T < =Ea (5  Not Attempted
\
VNATH / E1 ¥ BT o fe1u Z2mmet / SPACE FOR ROUGH WORK
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56. Choose the correctly spelt word.
(jf ~humorous

(2) humoros
(3) humarous
(4) ~humorus

(5) Not Attempted

Choose the alternative which best expresses
the meaning of the underlined idiom.
They sold their old house because it was

57.

a white elephant |
A W

(1) useless
(2) very comfortable

(3) 4 collapsing
;9/ very large
(5) Not Attempted

Find out the antonym of frequent’.
(1) return

(2) fear

(3) alarm

(4) rare

(5) Not Attempted

58.

Find out the synonym of the underlined word
in the following sentence.
To travel hopefully is a better thing than to

arrive, and the true success is to labour.
(1) positively

(2) negligence

f.’g) carelessly

(4) rationally

(5) Not Attempted

59.

Pick out the part of the sentence which has an
error. If there is no error, your answer is (3).

This is the third communication I have sent /
(A)

and 1 am much surprised /
(B)

at receiving no answer .
(©)

(1) (B

2 (©

(3) No error

(4) (A

(5) Not Attempted

VNATH /E1 % @1 & fe10 ZuTe

61.

62.

63.

GET IT ON
Google Play

Fill in the blank with suitable alternative.
You will not overtake him unlessyou .

1 walk quickly
(2)  play

(3) reading

(4) sleep

(50 Not Attempted

In the following question, the first and the last
part of the sentence are numbered S; & Sg.
The rest of the sentence is split into four parts
and named P, Q, R and S. These four parts are
jumbled. Re-arrange them in correct order.
S; - Even today in many countries

P - neglected and there are far

Q - women continue to be

R - who have had the benefit of

S - fewer women than men

Sg - education and vocation training

ﬂ{ QPSR
2) RQPS
B SORP
4) PQRS

(5) Not Attempted

Choose the alternative
the given sentence A
The accountant e

customer. :

(1)  The @Ehel
customer

(2)  The cust

(4)

(5)

Choose
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6. ﬁwﬁﬁﬁﬂwﬁwhﬂnﬁm;
(A) 721 Tifed TEET STl H €
(B) 27 Tifed TERT R TG F q2 WE
mﬁ'ﬁaﬁ?—m,,//ﬁ‘mrmnﬁé/%?
(1) 99 (B)
2 (A B
g @ SRITE)
(4) Faa (A)
(5) Wqﬁﬁaﬁal
77. mmmﬁm%mmuﬁwmnm
T E?
(1) wguaH
s2) A
(3 EETH
(@ TES
5) <o e &1 e |
Z% mﬁmﬁmmmwaxmmﬁ
T Il €
(1) @
@ W
(3) TP
o) F
(5) <o 7@ 21 A |

Uémgzmﬂé(ﬁﬂﬂﬁ)%#duﬁﬁmfﬁf@ﬁﬁ

76.

77.

78.

79.

79.
A ER-am A TR e
A) @Qﬂiﬁﬁﬂﬁquﬁmﬁ%'
B) @qqaﬁ%ﬁaqgﬁam%"ﬁﬁsrﬂnﬁﬁﬂ%l
mﬁﬁaﬁq—m/@$mwﬁ%/%?
(1) I (B)
@)  (A) 3R (B) S
(3) 31 (A) AR A (B)
(4) A (A)
(5) I A a1 e |
VNATH / E1 7% @1l o feru zemet / SPACE]
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Consider the following statements

(A) Nada Sahib Gurudwara 1s situated in
Ambala.

(B) Nada Sahib Gurudwara 18 situated on
the bank of river Ghaggar.

Which of the above statements is/are

correct ?

(1)  (B)only

(2) Both (A) and (B)

(3)  Neither (A) nor (B)

(4)  (A)only

(5) Not Attempted

In the Mahabharata period, which term was
used for Haryana ?

(1) Bahudhanyakya
(2) Hariyala

(3) Haryanak

(4) Haribanak

(5) Not Attempted

Boojali, an ornament is worn in

the body by women in Haryag
(1) Forehead

(2) . Foot
(3) Nose
(4) Ears

(5)  NotAttem Dte

Consider the folloy
of National Securtl

(A) Operational
Manesar.

(B) NSG comé
Ministry ¢

Which of th

correct ?

(1)

(2)

(3)
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80.

81.

82.

83.

nife Svd fva @a & fau ufag €2

(1) g

@y Tl

(3) et

(@)

(5) ST TEI o =ed |

el T59 W] 3G (S T E i) & o | freferfag

T T R S

A) EMTH A @S AR F N @SR
atferes ® )

B) USS IS TH € W eI % S ta R
e 7|

ST H | HH-H1/9 o @ /2

(1) 9d (B)

(2)  (A) 3 (B) S

(3) AT (A) IRAH (B)

(4) T (A)

(5) W I o =R |

fF=cifEd 4 9 %1 e % viE $0" s9es

foretl & 9 o A& =2

-~

(1) HHE9d
(2) A=
(3) T
(4) fomm

(5) TR TEl <A =ed |

form a1 4 yrdrg e e favafammers fom &2
(1) T=IH

(2) THEER
(3) FHEAA
(4)  dEEel

(5) AL ARl <A1 |red |

VNATH / E1

80.

81.

82.

83.
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Garima Chaudhary is well known for h
sport ?

(1) Kabaddi

(2) Wrestling

(3) Archery

(4) Judo

(5) Not Attempted

Consider the following statements about ;.
State Domestic Product (GSDP) :

(A) GSDP of Haryana is more than th; ,
Bihar.

(B) GSDP of Punjab is more than ths:,
Haryana.

Which of the above statements is/;,
correct ?

(1)  (B)only

(2) Both (A) and (B)

(3)  Neither (A) nor (B)
(4)  (A)only

(5) Not Attempted

Which one of the following is not amongs:
major cotton growing districts of Haryana*

(I) Sonipat

(2) Ambala
(3) Rewari
(4) Sirsa

(5)  Not Attempted

In which district is the Indian Natio:
Defence University located ?

(I)  Gurugram

(2)  Faridabad

(3) Karnal

(4) Panchkula

(5)  Not Attempted



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

84. TfefEa ¥ Q frgy fwmon

85. =¥ % 9 TN ¥ wfag wogs Ta 1 a9
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8 Qe o7 ?

(1) wfusrdg

(2) Tfe<T e

(3) TR IoER

4) wHF=XfHe

(5) S AR < AR |
s d BT v ?

R)/ fegwt

(2) STFRSR

(3) &

(4) ==

(5) SO R o 9IEd |

86. =IOuI fohd g & 3iaiia &2

(1) EREmn

(2) TS

(3) TGS

(4) TSEEE

(5) ST TE < =R |
87. T=A

oI H

foapan ST € 2

(1 3

[2) - 4

[3) S

4 2

(5) Wﬁﬁﬂgﬁl
38 q@amﬁaﬁm%?

(1) FIA

(2) FEETE

(3) Trede

4 &=

s

VNATH / E1

ﬁaﬁwﬁsﬁﬂmﬁmmmﬁ SIuE
mmﬁ%gwﬁsﬁﬂﬁmﬁaﬁ_

# sl -
YA T | 84, Who amongst the following
Haryana in Ranji Trophy ?

(1)
()
3)
(4)
(5)

3)

f

85. In which month of the yeag
Surajkund mela is N€

Haryana ? 7
(1) December .
(2)  Octobe

did not play for

Kapil Dev
Rajinder Goel
Sarkar Talwar
Maninder Singh
Not Attempted
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93. HEHH '
WW'%W
(1) Fifererg B
. | . :)\]/howas -
) Ke
(3) TN JE=ymy iy
(3)

(4)
A

STEH T F FH-11/ w3
(1) == (B) /
(2) (A) 3R (B) SMT

(3) T (A) RAE (B)

(4) =HTd (A)
(5) SR TE o =ed |

fag 99 2022-23 = o, TR
fora e =93 =1 T giod 3

(1) 6.2%

(2) 8.5%

(3) 5.8%

4) 14.2%

ey e 2 A |

(5)
¢ iz " =g BT a1
(1)
(2)
(3)
(4)
(5)
VNATH /E1
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7

—
_ 97.
o7. wframn # f A g?
(1) 22
W 23
(3 24
4) 21
(5) I TRl < =Ed |
o8. frefafma § ¥ sfamm  #9-1 T St dard | 98.
A ° TG § 2
M T
(g
[8) ===
(4) YHA
(5) SR o 9Rd |
99,
99. = 7= ¥ TN T i foha e &2
(1) 7
2) 6
| P s
: 4 8
(5) I R A =R
100. =T T4l #fd 3T wiEE g siEm F fey
foe 537 o,
(1) fam=n
2) feum
(3 fsz
(4) T=R
(5) 3 &l A =ed |
-00o0-
VNATH /E1

¥ B4 & 10 211 SPACE

How many dis
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there 1n Ha.

tricts are aNa 5

(1) 22

(2) 23

(3) 24

4 21

(5) Not Attempted
:Z}:::o(():g:eed&;lrli(:glxﬂi\cjlirt]icfrfi(;;”;",f Haryan,
(1) Ratvai

(2) Phag

(3) Gugea

(4) Dhamal

(50 Not Attempted

How many Rajya Sabha seats does Haryay,

have ?
(L)
(2)i46
(3) siS
ke 3
()

Indira Gandhi Super Thermal Powe
is situated in which district of

(1)
(2)
(3)
(4)
()

Not Attempted

Sirsa
Hisar

Jind
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